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�!¦e��4� (z�K 6 ©, � 30 ©)

(1) lim
n→∞

( 3
√
n3 + n2 − n).

(2) lim
n→∞

(n tan
1

n
)n

2
.
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(3) lim
x→0

ex sinx − cosx

x2
.

(4) lim
x→+∞

(
x
√
a

3
+

2 x
√
b

3
)x, Ù¥ a, b ��¢ê.
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(5) lim
x→0

sin2018 x− x2018

x2020
.

�!(�K 10 ©) ¦f(x) = 1
2x2−1 3 x = 0 ?�1 2018 ��ê� f (2018)(0).
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n!(�K 10 ©) �¼êy = y(x) d�§|x = t− sin t

y = 1− cos t

¤(½. ¦
dy

dx

∣∣∣∣
t=π

2

Ú
d2y

dx2

∣∣∣∣
t=π

2

.
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o!(�K 10 ©)

�e < a < b < e2, y²µ ln3 b− ln3 a >
3

e
(b− a).
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Ê!(�K 10 ©)� n ���ê, f(x) � R þ n ���¼ê, ÷v: ∀x ∈ R,

|f (n)(x)| ≤ 1.

(1) (5©) y²: lim
x→+∞

f(x)

xn+1
= 0.

(2) (5©) y²: �3¢ê L, ¦� f(x) + xn+1 3«m(L,+∞) þ�4O¼ê.
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8!(�K 10 ©) � f(x) � R þ�����¼ê, ÷v: f(0) = 1, f
′
(0) = 0,

f
′′
(0) > 0, f(1) = 0. Áy²: �3x0 ∈ (0, 1), ¦� f

′
(x0) = 0.
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Ô!(�K 20 ©)� f(x) �Xe½Â� R þ�¼êµ

f(x) =


sinx

x
, x 6= 0;

1, x = 0.

(1) (10©) ¦ f
′
(x), ¿y² f

′
(x) � R þ�ëY¼ê.

(2) (5©)y²�3 x0 ∈ R, ÷v: |f ′
(x0)| < 1, ¿� ∀x ∈ R, |f ′

(x)| ≤ |f ′
(x0)|.

(3) (5©)� a ∈ R, - x1 = a, xn+1 = f(xn), n = 1, 2, · · · . y²: lim
n→∞

xn �3.

1 8 � , � 13 �
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�. (1) du (1 +
1

n
)
1
3 = 1 +

1

3n
+ o(

1

n
), l


3
√
n3 + n2 − n = n((1 +

1

n
)
1
3 − 1) = n(

1

3n
+ o(

1

n
)) =

1

3
+ o(1)→ 1

3

(2)

(n tan
1

n
)n

2
= (n

sin 1
n

cos 1
n

)n
2

= (
n( 1

n
− 1

6n3 + o( 1
n3 ))

1− 1
2n2 + o( 1

n2 )
)n

2

= (
1− 1

6n2 + o( 1
n2 )

1− 1
2n2 + o( 1

n2 )
)n

2

= ((1− 1
6n2 + o( 1

n2 ))(1 +
1

2n2 + o( 1
n2 )))

n2

= (1 + 1
3n2 + o( 1

n2 ))
n2 → e

1
3

(3)

ex sinx − cosx

x2
=

1 + x sinx+ x2 sin2 x
2

+ o(x2 sin2 x)− (1− x2

2
+ o(x2))

x2

=
1 + x(x+ o(x)) + o(x2)− (1− x2

2
+ o(x2))

x2
→ 3

2

(4)

a
1
x = e

1
x
ln a = 1 + ln a

x
+ o( 1

x
)

b
1
x = e

1
x
ln b = 1 + ln b

x
+ o( 1

x
)

ln(a
1
x

3
+ 2b

1
x

3
) = ln(1 + a

1
x−1
3

+ 2(b
1
x−1)
3

)

= ln(1 + ln a
3x

+ 2 ln b
3x

+ o( 1
x
))

= ln a
3x

+ 2 ln b
3x

+ o( 1
x
)

l


x ln(
a

1
x

3
+

2b
1
x

3
) =

ln a

3
+

2 ln b

3
+ o(1)→ ln a

3
+

2 ln b

3

�

(
x
√
a

3
+

2 x
√
b

3
)x = ex ln(a

1
x
3

+ 2b
1
x
3

) → 3
√
ab2

(5)

sin2018 x = (x− x3

6
+ o(x3))2018

= x2018(1− x2

6
+ o(x2))2018

= x2018(1− 2018(x
2

6
+ o(x2)) + o(x2))

= x2018 − 1009
3
x2020 + o(x2020)

1 9 � , � 13 �



l

sin2018 x− x2018

x2020
→ −1009

3

�. y{�: du f(x)(2x2 − 1) = 1, ü>¦ n ��ê, 2|^4ÙZ]úª, ��

f (n)(x)(2x2 − 1) + 4nxf (n−1)(x) + 2n(n− 1)f (n−2)(x) = 0

· · · · · · (6©)

l


f (n)(0) = 2n(n− 1)f (n−2)(0)

· · · · · · (8©)

�

f (2018)(0) = 21009 × 2018!× f(0) = −21009 × 2018!

· · · · · · (10©)

y{�: g(y) =
1

1− y
3 y = 0 ?��VÐm�

g(y) = 1 + y + y2 + · · ·+ yn + o(yn), y → 0.

· · · · · · (4©)

Ïd� x→ 0 �,

f(x) = (−1) 1

1− 2x2
= (−1)(1 + (2x2) + (2x2)2 + · · ·+ (2x2)1009 + o(x2018))

· · · · · · (8©)

d��æì{���VÐm���5, � −21009 = f (2018)(0)

2018!
,l


f (2018)(0) = −21019 × 2018!

· · · · · · (10©)

n.
dx

dt
= 1− cos t

dy

dt
= sin t

1 10 � , � 13 �



· · · · · · (4©)

dy

dx
=

sin t

1− cos t

· · · · · · (6©)

dd��

d2y

dx2
=

dy
dx
/ dt

dx/ dt
=

cos t(1− cos t)− sin2 t

(1− cos t)3

· · · · · · (8©)

l


dy

dx

∣∣∣∣
t=π

2

= 1.

d2y

dx2

∣∣∣∣
t=π

2

= −1.

· · · · · · (10©)

o. d.�KF¥�½n,

ln3 b− ln3 a

b− a
=

3 ln2 ψ

ψ
, e < a < ψ < b < e2.

· · · · · · (4©)

- f(x) =
ln2 x

x
, K

f
′
(x) =

2 lnx− ln2 x

x2

l
�e < x < e2 �, f
′
(x) > 0, f(x) �î�4O¼ê.

· · · · · · (8©)

dd�
3 ln2 ψ

ψ
>

3 ln2 e

e
=

3

e
.

· · · · · · (10©)

Ê. (1) ëYA^â7�{K n g=�.

1 11 � , � 13 �



(2) é f
′
(x) A^ (1) �(Ø, �� lim

x→+∞
f
′
(x)
xn

= 0.

· · · · · · (2©)

- g(x) = f(x) + xn+1, K

g
′
(x) = f

′
(x) + (n+ 1)xn → +∞, x→ +∞.

l
�3��¿©���ê L, ¦��x > L �, g
′
(x) > 0, = g(x) 4O.

· · · · · · (5©)

8. éf(x) 3x = 0 ?��VÐm, ��

f(x) = 1 +
f

′′
(0)

2
x2 + o(x2).

· · · · · · (3©)

dd, �3¿©���ê δ < 1, ¦��x ∈ (0, δ) �, f(x) > 1.

· · · · · · (5©)

Ïd f(x) 3 «m[0, 1] þ�����½3SÜ���: x0 þ��.

· · · · · · (7©)

d¤ê½n� f
′
(x0) = 0.

· · · · · · (10©)

Ô. (1) f
′
(0) = lim

x→0

sinx
x
− 1

x
= 0.

· · · · · · (3©)

f
′
(x) =


x cosx− sinx

x2
, x 6= 0;

0, x = 0.

· · · · · · (6©)

���y�� lim
x→0

x cosx− sinx

x2
= 0, l
 f

′
(x) �ëY¼ê.

· · · · · · (10©)

1 12 � , � 13 �



(2) N´�y lim
x→∞

f
′
(x) = 0, qdu f

′
(x) �ëY¼ê, � |f ′

(x)| 3R þ�����

±3��: x0 ?��.

· · · · · · (2©)

e¡�I�y: ∀x ∈ R, |f ′
(x)| < 1.

qdu f
′
(x) �Û¼ê, ��I3 (0,+∞) þ�yØ�ª −1 < f

′
(x) < 1. d (1)

¥f
′
(x) �L�ª, �I�y:

∀x > 0,−x2 < x cosx− sinx < x2.

ùd� x > 0 �, �¼ê�Ø�ª (−x2)′ < (x cosx− sinx)
′
< (x2)

′
á=��.

· · · · · · (5©)

(3) d (2), �3¢ê q, ÷v 0 < q < 1, ¿�é?¿ x, y ∈ R, Ñk |f(x) − f(y)| <

q|x− y|, l
 f(x) �Ø N�.

· · · · · · (2©)

d lim
x→∞

f(x) = 0 �f(x) �k.¼ê. �M > 0, � f(R) ⊂ [−M,M ]. Ké?¿��ê

k Ú?¿Ø�u2 ���ê m,n, ¤á±e�O:

xm+k − xn+k = fk(xm)− fk(xn) < qk|xm − xn| ≤ 2qkM.

dd�ê� {xn} ��Ü�, l
Âñ.

· · · · · · (5©)
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